3-296

05m

04m

K

60

05m
1)

4000

17 9

EnviroSMART

L

rr

350 ?,1 f g
— @ 400

e

1000 S30

I

e

s s s s s s s s

s g e s s s s s e

8000

mm

H40mx W80mx L4.0m

H125mx W10mx L40m
@ 400 mm
4 S30

k=4.9x 10°cm/sec
k=22x 10°cm/sec
k=29x 10%cm/sec

25m
04m

1.25,0.75,025m

120 L/min
80 L/min
100 L/min

g=k K

]

[m¥hr/m] k:

1

K=3.093H + 134 W+ 0.677

H:

@

K=qg/k

[m W

@

[vhi]

@

[m]

©)

305-8516

1-6

-591-

TEL 029-879-6759




3-296
K' 1
K K
KK 16
1/10
3
(@) K
k=51x 10° cm/sec
32
3
3
4,
[
6

]

60

2

k=39x 10°cm/sec

1,3

-592-

1
2)

3

-
<« 6— Z
E *
N4 5
N ¢
3
2 ) y=0.1578 x
1 ot e
ol %
| | | | | |
0 1 2 3 4 5 6 7
@ K[m]
2
g 1.2
mé .
E 1.0 e
* w
0.8 —
0.6 — \
0.4+ y=0.9019 - 0.1023
R2 =0.9954
0.2 —
00 . .
00 02 04 06 08 10 12
[m¥hr/m
3
16
1995
13
pp.157-160 1978
NO.8
pp.53-60 2000



